
 

PC2312 (2004/05 Examinations)

Q1. (b)
Answer: θi = 83 deg.

Q1. (c)
Hint: Use (1 + y2/z2)1/2 ! 1 + y2/2z2.

Q1. (d)
Answer: ∆λ = 2.0× 10−4 cm.

Q1. (e)
Answer: δ = 4πn cos θ/λ.

Q2. (b)
Answer: A converging lens is needed; the focal length is 33 cm.

Q2. (c)
Answer: Real, inverted, height is −2 cm.

Q2. (d)
Answer: The focal length is −13.3 cm.

Q3. (b)
Answer: Linear: E

¯
= Eox cos(ωt− kz) · x̂ + Eoy cos(ωt− kz) · ŷ ;

Circular: E
¯

= Eocos(ωt− kz) · x̂ + Eo sin(ωt− kz) · ŷ.

Q3. (c)
Answer: Emergent intensity of the third polaroid is I0/8; without the
central polaroid the emergent intensity is zero.

Q3. (d)
Answer: I0/2, half wave plate with optic axis at 45 deg.
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